LDK(EMH - BE - 6F1) LDK®DOEROE

BFEEOXAFS
T i DR = LDK®ER®EE

20| 1t [ = B i

SINMO 2RI xBRITOM 2 BEEE

ITBEELEE2 (LA H DS M1 TD 2EEE

LDKIZ

=12 N

YHET

A&t % :

U SA & REARLEDBEE—RIBCT IELDKOZMIZ. EROFHRHES. 1mOREEEBL T,
X Y & TELDKOBAND. B|h5IAETABRABRYENTL HESITA>TOET,

FEEITKR & ( SWRIEE DT FERFCRALELTVET, ;

oo knsy. | 2= (XMOBE) 3, 2ECRLEBELHETHY. XRHEVEMEZACLTE, BOBORLEN TS YBIHSRBASHY ET, BRACKEE
A AN | B STREOEA L BAERET 3D, TEECTHRAEI. Omd [ Wikl #RIT [BE] 2RAT. BEEELTLHM
EE2I2WED T B FHHFC. TR BAROEMBEGLAYZED YHLTNET,

H5I5Y OBE2IRRERICNET 3 THCHEED. THEFES. Omd [WiK] 2BHT [BE] WA, ZMHEEAYES YHLTNET,

EE1[2BREZRDHOND
BE2 EHMRASI. ImMOWIRDEENZEZRH NS

1mLD K| ©H (D (@ (®m (D) (5 (e (D (®)m Ok

BiTOM®D 2 75m 0.5m] 1.25MmH 1.25Mm 2 m 0.5M/10.7 5
RE Al ! =
7 B & 5 B OE B FHIKI&m|DIg2|L] B B |sekeE
I[IR #4 2494 51EH S
1 EFESOBREmEFALIM [ BT $ ]
I-1-1[8 @ W 4
[-1-2EBEmliMmET AT LA1
. [T2EETznmL - e EETTD
:%I E iﬁ I-3 ZEQLE“M%N . giﬁt%gitﬁl]uﬂm [q:g‘__lllﬂm] O ZLBAMBIUR A - BEE S ER{AIURAA
[-4HFBFHOTMEZRMABALEILH [ RBUIH ] O
IBGKOL-OOME AR—XZHEBORICHET T, FZ8HONIL3CTEHZLT SEH " =
-1 BkOBEZEEBZOBKICHT S
OI-2BKDAR—Z%, BEBICHEELTEEE (XRBROEE) OITHT D

WEMEE ~ 85 08m (25 731
BEFEHEE ~ 49 65m (E#EFE:58. 35%<6 0%)
T B = BAEKREE.. 88. 17m (26. 671 " BHEE: 103. 63%<200%)
@1 BEEE - 35 60m OBHEBZEE . 15 73m (LHFICEMAHE > TLIENFAR—ZIEE)
@ 2REKEE. 40 57m OWRKERE S 16. 13m
OC 7 rEFEEE. 12. oom ONJLa=——M@ES 5. 79m

Bl - BE - B0 1REEZBROONDEIICHE>TNET

SHEpAnCU S E M B A [C BRI AN S Y EF T

K& Dla% Clzm
1TEEEZROOND 1 FEZRRE Z MRk L 1Bk b D

L

% H I I—IF \1

]EEE%J:%BHR.%WX/\"—X iy

it A &= B %

TFR S HBICEL D)
SHEEIC 1 EEEER R,
THLDKZILEICEHFET,

. V { <F R EHIFT>
BN S [ENSYFET]
I T eaparenss.

= AN
SAHET
N> b i s
BRYAD
FEEIZ
ujz*}i& Ii _____ 2,235 "~ "~ — I_ _____ 2_2_73_____?____1_8_26____1____‘
a2k, ! 7
BE2IC ! °
X X X X ! =
Wik IS # IS # IS # IS # :
BT o \ V : PN ! : i
L] Eel @ S 2
/ 07k : =
1 = | =
. w4 54 w4 | N
- : ialee :
: :
B i -
1.820 1.365 910 1820 """ 2.275 910 """~ siss T TTT7¢ 1.820 2,275
T T T T T T T T T i
e —
o [N L 0 M | a
& o =k i — ——— - ! ——
i | | | R b — |
(- wE=| | 7 B / | I
B < AN £ i o
>mm N EE R | , : NIEN
———F ———+ / 1 \\ / Ly 1 | (D
= : I‘gl-'-l// ’ I Z
N BE2 I«'I%E / | AlNEE
_ === ErE—— % | ~
‘ Z Jﬁgf =ZE 1 3.7 W 5.2 W] A | 7l 4
s 4.0 ,@ (FRBE2) 1% #H (RBORE . H | >
E J. ﬁ%? EN) P = : // \\ : a
g I L ’ /
revew E—— | B ) |
CEFER 2  ———
60§ 5 005 910 8. 190 2. 275 600
l [ 1,820 1,365 1.365 4556 | [ 2.275 2,275 3,640 | l l
T T T 1 ! T T 1
= 3
e s |
e @ 'y
| e 3 A
% B 1 4% S| g 700 | 5 4 N ; 3 b
p |LATAL iiinal _ i El
:; T A |\ / E
- | I — ‘ & [NIHEER
[oo) g | ) < b =
= = A e VI I o
- 15 . % A
gﬂ,: // N ] — o
m DY =
I £ S
. , #h ) AV
. | I =&+ = =& e \| 9
| 16, 380 | 3
IEEE T 9fH N
17,580




MAATDTSY | EEEIZWRIE. BE2ICRIREOTINDOHBH TS

A

! I I S A S i.80” — ~ " -~ T 7 1
: 1 T T 1 i
| ! 1]
T : (=
| Iz 4 WA AR Iz 4 ; E
— T |
| —
I T i !
: \/ NN V |
| =] i =
: BE2 1 3
' a7k | =
O : w4 = Wi | :
| . . o
. . O - : | _(ll;jé.gl;_gg\ ;
7 |
O ' 2 |
! |
| i — ; 1]
I | |
1.820 1.365 2,730 I T 2 _2_75:_______51_0___________3_135 _________ ____‘1 820 2,275
r T T T T T T T 1
——
0 EXEE 25 ; J
] : ® o M | 5
p S ) — = e ! —
1 _i i N , ™ |
L s || S N 15 A / | .« M4
3 . 1 )R . / | 2 |7
S / | N | A i
AN 4 A ~f
T T |y — % N / L Ll I zZ — :
- == BEE2 ITEE Wi YUIRE
3@@ 4.5 n 3.7 s 52 wf ol e
SN i (FHREET) (FHREE2) % 4 (ARORE S H H 5
B = ‘= Ll \ \ i
y \ | // \\
= N > B]. OO
2R FEE ) f  S— )
600 FEHIT R 5,005 910 8,190 2,275 600
l % 1,820 1,365 1,365 I455% % 2,275 - 2,275 - 3,640 % l l
gl 8
] =)
IR o
J-*FO)FEIE] '\_ :Z
% M3
> A i /\ g’—
» = -4 —
® | — ' o e
: =
15 ( o
E Eﬂ'c l, — ~
:It@r-ﬁ Ll ~ANARE i
HX | |
i 0! g%sm%%ma%m AEE :
e & 34 3 1 I Q
| 160884 | =
1R EE 9 N
17,580




	m21-1
	m21-2

